— MR FENBARTYMR—IL) =

F26E AXRTVIR—ILY— FE268

BEZvRR—ILU—Z

B B 20245108278 (H) 1300[H&HR 905 | 25% REFTIRBTELHERE TN
X & iE | & B i234°C| B E i63% | HE EL [EyFEIEEBZ | WBGT | AR 203°Ci HT 19.9°C
<yFasyiat—iml 2 *F B IMREAN Bl & 2 i#5K iR BEZEIAE EfE BEH
BH7EvY— L NE Bl = 1 RS B sosna R K FhiF SEHELIA EX 866 A
e 22522 m - 37—40
(R—LF—L) 0 B 2 (ELE—F—L)
BAERREFC 1 i 8 0 2 FEI W VAV N )
KICK OFF
2K Ya—k B . B\ || & . B Ya—+h R
o TOUTHR ama|a| =% |s|Els|s| FTE | RHTwoe OUTH o
0 Rk fEtH 50| GK| GK| 20|#k#k & 0
0 INBR Kith (Cap.) 8| DF|DF| 3|f&E 5hT54¢ 0
1 1 INERSF B 17|DF|DF| 6|BL ## 0 815
199 0 AR i}iE 25| DF| DF | 15[ith N BE®K 0
1 1] 1Kk sk 32| DF|DF| 25|17k IBE 0
11 %k =N 10|MF|MF| 5|BiR% EiE 0 684
HT 0 E5 EN 14| MFIMF| 14| 1LEF —if 1 1 844y
HT 1 1 SF iER— 15| MF|MF| 17|BEX #RE 0 684>
8745 11 FAX B3 22| MF|MF| 21|/hE BEX 1 2| 1 1 844>
635 0 JNFE K# 26| MF|MF| 22| 4% 5% (Cap.) 0
20 1] 3 AR EA 18| FW|FW| 9|45+ BN 1 1] 1
EINE 41| ekl ck| 1|EE 2FE
WA 318 2| DF|DF| 4|T# K& 0 6
15 1 1 K Bt 5|MF|DF| 23|EX &
25 0 +H hiE T{MFIMF| 8|3 Bt X 0 14
26 0 TH AR 20| MFIMF| 10|%E5& R & 0 5
22 0 HO Jeis 11| FW]Fw| 40| F 1= 0 17
14 0 FAIER 6 5 34| FW|Fw| 87|&1k B4 0 21
&5 -R5 BEE BEE & -Bi5
455y = | 8i/vik Kith RAE-y|ith b FZ g &% 159> 2| 5 HRE EiE RAK-Y
] = ]
5. 4] 9l a—r| 4] 3 1
2 1] 3] GK 9| 6 3
9: 5| 14| cK 11 00 1
5 4| 9| EEFK| 8| 4i 4
2i 1| 3| REEFK| 2| 0 2
2: 1] 3@ 1] 0 1
0 0/ 0/ PK of 0 0
FRERM| JFRF—L | No. B"RE BERA LA ~FUJ)IL —-TanR T:BEEHR/R xR S:a—k HATAVY
195 |Yxznzixs| 21/hE BEX 0-1 A-3 6 1 H-1 - b1 21 i~ BES
Bolvzrzrixn| 9i5H B 0-2 | &3 3 - A1 1T k1l 21 H 1
17 1 9 HS
665 [HEAREE | 32: K4k B 1-2 | BHck 10 ) g1 #@FFPI H HUT | 34 - 32
3L AES
[ &A1 BT$45:49(00:49) . #%349:26(04:26) . RAFTERERT 01:50:34
[EE]

X (FTHAR) DWIZ(E, FEFKDSS, BFF—LDATHARIZLDHE. RTRLTVET,




